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QUESTION 1

You are designing a new campus Internet access service that implements dynamic NAT for customer IP addressing.

The customer requires services that allow peer-to-peer networking and online gaming.
In this scenario, what will accomplish this task?

A. EVPN over IPsec

B. one-to-one NAT

C. stacked VLAN tagging

D. endpoint independent mapping

Correct Answer: C

QUESTION 2

Which two protocols are supported natively by the Junos automation stack? (Choose two.)
A. NETCONF

B. PyEZ

C. Jenkins

D.CIP

Correct Answer:. AB

QUESTION 3

What is the maximum number of SRX Series devices in a chassis cluster?
A 2

B.3

C. 4

D.5

Correct Answer: A

Reference: https://www.oreilly.com/library/view/juniper-srx-series/9781449339029/ch07.html

QUESTION 4
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You are asked to provide a design proposal for a campus network. As part of the design, the customer requires that all
end user devices must be authenticated before being granted access to their Layer 2 network.

Which feature meets this requirement?
A. IPsec

B. 802.1X

C. NAT

D. ALGs

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/802-1x- authenticationswitching-
devices.html

QUESTION 5

Which statement is correct about service chaining?

A. Service chaining uses IPsec to connect together two or more VMs

B. Service chaining evaluates traffic by using multiple security features on the same instance
C. Service chaining redirects traffic back through the same device for additional processing
D. Service chaining combines multiple VNF instances together in the data flow

Correct Answer: D

JNO-1332 PDF Dumps JNO0-1332 Study Guide JNO0-1332 Exam Questions

JNO-1332 PDF Dumps | JNO-1332 Study Guide | IN0-1332 Exam Questions 3/3


https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
http://www.tcpdf.org
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html

